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Long,1997)

Long ,J.S(1997)Regression models for categorical and limited dependent variables. Sage Publication
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Stata cut point



Prob (Y=0x) = 1/(1+exp(-u,+ X xb))

Prob (Y=1x) = 1/(1+exp(~u,+ X xb})-1/{1+exp (~u+ X xb))
Prob (Y=2|x) = 1-1/{1+texp(-u.+ X xb))
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Parameter Estimates

95% Confidence Interval
Parameter Estimate | Std. Error Z Sig. Lower Bound [ Upper Bound
PROBIR 057 130 438 661 -.199 313
1.547 351 4.408 .000 .859 2.235
Intercept 1 -2.581 306 -8.428 .000 -2.887 -2.275
2 -4.077 740 -5.511 .000 -4.816 -3.337
3 -3.487 602 -5.794 .000 -4.089 -2.885

a. PROBIT model: PROBIT(p) = Intercept + BX
b. Corresponds to the grouping variable

1.96
probit(

)=1.547

0.057




Chi-Square Tests

Chi-Square df? Sig.
PROBIT Pearson
Goodness-of-Fit Test 7.546 580
Parallelism Test 3.583 167

a. Statistics based on individual cases differ from statistics based on

agg regated cases.

0.051




Cell Counts and Residuals

Number of | Observed | Expected
Number Subjects | Responses | Responses | Residual |Probability
PROBIT 1 1 4.000 50 44 44,746 -.746 .895
2 1 3.000 49 42 38.082 3.918 T77
3 1 3.000 46 24 25.347 -1.347 551
4 1 2.000 48 16 16.662 -.662 347
5 1 1.000 50 6 7.124 -1.124 142
6 2 5.000 48 48 47.428 572 988
7 2 5.000 50 47 48.721 -1.721 974
8 2 5.000 49 47 45.636 1.364 931
9 2 2.000 48 34 36.548 -2.548 761
10 2 1.000 48 18 15.485 2515 323
11 3 5.000 50 48 48.129 -.129 963
12 3 4.000 46 43 42.386 614 921
13 3 3.000 48 38 39.081 -1.081 814
14 3 2.000 46 27 26.400 .600 574




Probit(0.5)=0

=1.547 0.057><  2.581
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